

## B.-Y. CHEN INEQUALITIES FOR SLANT SUBMANIFOLDS IN KENMOTSU SPACE FORMS II

SIMONA COSTACHE

ABSTRACT. In this article, we investigate sharp inequalities involving Chen invariants for a slant submanifold  $M$  of a Kenmotsu space form  $\widetilde{M}(c)$ , tangent to the structure vector field of the ambient space.

### 1. PRELIMINARIES

Let  $(\widetilde{M}, g)$  be an odd-dimensional Riemannian manifold. Then  $\widetilde{M}$  is said to be an almost contact metric manifold if it admits an endomorphism  $\varphi$  of its tangent bundle  $T\widetilde{M}$ , a vector field  $\xi$  (structure vector field) and a 1-form  $\eta$ , which satisfy:

$$\begin{aligned}\varphi^2 &= -I + \eta \otimes \xi, \eta(\xi) = 1, \varphi\xi = 0, \eta \circ \varphi = 0, \\ g(\varphi X, \varphi Y) &= g(X, Y) - \eta(X)\eta(Y), \eta(X) = g(X, \xi),\end{aligned}$$

for any vector fields  $X, Y$  on  $\widetilde{M}$ .

An almost contact metric manifold is called a Kenmotsu manifold if

$$(\widetilde{\nabla}_X \varphi)(Y) = g(\varphi X, Y)\xi - \eta(Y)\varphi X, \quad \widetilde{\nabla}_X \xi = -\varphi^2 X = X - \eta(X)\xi,$$

where  $\widetilde{\nabla}$  denotes the Riemannian connection with respect to  $g$ .

A plane section  $\pi$  in  $T_p \widetilde{M}$  is called a  $\varphi$ -section if it is spanned by  $X$  and  $\varphi X$ , where  $X$  is a unit tangent vector field orthogonal to  $\xi$ . The sectional curvature  $\widetilde{K}(\pi)$  of a  $\varphi$ -section  $\pi$  is called  $\varphi$ -sectional curvature. A Kenmotsu manifold with constant  $\varphi$ -sectional curvature  $c$  is called a Kenmotsu space form and it is denoted by  $\widetilde{M}(c)$ . Then its curvature tensor  $\widetilde{R}$  is expressed by

$$\begin{aligned}4\widetilde{R}(X, Y)Z &= (c - 3)[g(Y, Z)X - g(X, Z)Y] + (c + 1)[g(\varphi Y, Z)\varphi X \\ &\quad - g(\varphi X, Z)\varphi Y - 2g(\varphi X, Y)\varphi Z + g(X, Z)\eta(Y)\xi - g(Y, Z)\eta(X)\xi \\ &\quad + \eta(X)\eta(Z)Y - \eta(Y)\eta(Z)X].\end{aligned}$$

---

2000 *Mathematics Subject Classification.* 53C40, 53C25.

*Key words and phrases.* Kenmotsu space form, slant submanifold, Chen invariants.

Let  $M$  be an  $n$ -dimensional Riemannian manifold with induced metric  $g$  isometrically immersed in  $\widetilde{M}$ . We denote by  $TM$  and  $T^\perp M$  the tangent and the normal bundles of  $M$  respectively.

For any  $X \in TM$ , we write  $\varphi X = PX + FX$ , where  $PX$  (respectively  $FX$ ) denotes the tangential (respectively normal) component of  $\varphi X$ .

The equation of Gauss is given by

$$\widetilde{R}(X, Y, Z, W) = R(X, Y, Z, W) - g(h(X, Z), h(Y, W)) + g(h(X, W), h(Y, Z)),$$

for any vectors  $X, Y, Z, W$  tangent to  $M$ .

We denote by

$$\tau(p) = \sum_{1 \leq i < j \leq n} K(e_i \wedge e_j),$$

where  $p \in M$  and  $\{e_1, \dots, e_n\} \subset T_p M$  is an orthonormal basis, the scalar curvature of  $M$  at  $p \in M$ .

The mean curvature vector  $H$  is defined by  $H = \frac{1}{\dim M} \text{trace } h$ .

From now on, let  $n$  (respectively  $2m+1$ ) be the dimension of  $M$  (respectively  $\widetilde{M}$ ). We denote by

$$h_{ij}^r = g(h(e_i, e_j), e_r), i, j \in \{1, \dots, n\}, r \in \{n+1, \dots, 2m+1\};$$

then we have

$$\|H\|^2 = \frac{1}{n^2} \sum_{r=n+1}^{2m+1} \left( \sum_{i=1}^n h_{ii}^r \right)^2, \quad \|h\|^2 = \sum_{r=n+1}^{2m+1} \sum_{i,j=1}^n (h_{ij}^r)^2.$$

Also we put

$$\|P\|^2 = \sum_{i,j=1}^n g^2(Pe_i, e_j),$$

where  $\{e_1, \dots, e_n\}$  is an orthonormal basis of  $T_p M$  and  $\{e_{n+1}, \dots, e_{2m+1}\}$  is an orthonormal basis of  $T_p^\perp M$ .

A Chen invariant is defined by

$$\delta'_M(p) = \tau(p) - \inf \{K(\pi) | \pi \subset T_p M \text{ a plane section invariant by } P\}.$$

If the structure vector field  $\xi$  is tangent to  $M$ , we denote by  $D$  the orthogonal distribution to  $\xi$  in  $TM$  and we can consider the orthogonal direct decomposition  $TM = D \oplus \langle \xi \rangle$ .

Let  $\pi \subset D_p$  a plane section at  $p \in M$ , orthogonal to  $\xi_p$ . Then,  $\Phi^2(\pi) = g^2(Pe_1, e_2)$  is a real number which is independent of the choice of the orthonormal basis  $\{e_1, e_2\}$  of  $\pi$ .

Let  $L$  be a subspace of  $T_p M$  of dimension  $r \geq 2$  and  $\{e_1, \dots, e_r\}$  an orthonormal basis of  $L$ . The scalar curvature  $\tau(L)$  of the  $r$ -plane section  $L$

is given by:

$$\tau(L) = \sum_{1 \leq \alpha < \beta \leq r} K(e_\alpha \wedge e_\beta)$$

and we denote by

$$\Psi(L) = \sum_{1 \leq i < j \leq r} g^2(Pe_i, e_j).$$

For an integer  $k \geq 0$ , we denote by  $S(n, k)$  the finite set consisting of  $k$ -tuples  $(n_1, \dots, n_k)$  of integers  $\geq 2$  satisfying  $n_1 < n, n_1 + \dots + n_k \leq n$ . Denote by  $S(n)$  the set of  $k$ -tuples with  $k \geq 0$  for a fixed  $n$ .

For each  $k$ -tuples  $(n_1, \dots, n_k) \in S(n)$ , Chen introduced a Riemannian invariant defined by:

$$\delta(n_1, \dots, n_k)(p) = \tau(p) - S(n_1, \dots, n_k)(p),$$

where  $S(n_1, \dots, n_k)(p) = \inf\{\tau(L_1) + \dots + \tau(L_k)\}$  and at each point  $p \in M$ ,  $L_1, \dots, L_k$  run over all  $k$  mutually orthogonal subspaces of  $T_pM$  such that  $\dim L_j = n_j, j = 1, \dots, k$ .

We will consider the Chen invariant

$$\delta'(n_1, \dots, n_k)(p) = \tau(p) - \inf\{\tau(L_1) + \dots + \tau(L_k)\},$$

where  $L_1, \dots, L_k$  run over all  $k$  mutually orthogonal subspaces of  $T_pM$ , invariant by  $P$ , such that  $\dim L_j = n_j, j = 1, \dots, k$ .

For each  $(n_1, \dots, n_k) \in S(n)$ , let:

$$d(n_1, \dots, n_k) = \frac{n^2 \left( n + k - 1 - \sum_{j=1}^k n_j \right)}{2 \left( n + k - \sum_{j=1}^k n_j \right)},$$

$$b(n_1, \dots, n_k) = \frac{1}{2} \left[ n(n-1) - \sum_{j=1}^k n_j(n_j-1) \right].$$

According to Lotta's definition (see [10]), a submanifold  $M$  immersed into an almost contact metric manifold  $\bar{M}$  is called slant if the angle  $\theta(X)$  between  $\varphi X$  and  $T_pM$  is a constant  $\theta$ , which is independent of the choice of  $p \in M$  and  $X \in T_pM - \langle \xi_p \rangle$ . The angle  $\theta$  of a slant immersion is called the slant angle of the immersion.

Invariant and anti-invariant immersions are slant immersions with slant angle  $\theta$  equal to 0 and  $\frac{\pi}{2}$ , respectively. A slant immersions which is neither invariant nor anti-invariant is called a proper slant immersion.

## 2. INEQUALITIES

We recall the following lemma due to Chen.

**Lemma 1.** Let  $a_1, \dots, a_n, b$  be  $n + 1$  ( $n \geq 2$ ) real numbers such that:

$$\left( \sum_{i=1}^n a_i \right)^2 = (n-1) \left( \sum_{i=1}^n a_i^2 + b \right).$$

Then,  $2a_1a_2 \geq b$ , with the equality holding if and only if  $a_1 + a_2 = a_3 = \dots = a_n$ .

Using the above lemma, we proved a Chen first inequality (see [7]).

**Theorem 2.** Let  $\widetilde{M}(c)$  be a  $(2m + 1)$ -dimensional Kenmotsu space form and  $M$  an  $(n = 2k + 1)$ -dimensional non anti-invariant  $\theta$ -slant submanifold, tangent to  $\xi$ . Then, for any point  $p \in M$  and any plane section  $\pi \subset D_p$ , we have:

$$\begin{aligned} \tau - K(\pi) \leq \frac{n-2}{2} \left\{ \frac{n^2}{n-1} \|H\|^2 + \frac{(c-3)(n+1)}{4} \right\} \\ + \frac{(c+1)(n-1)}{8} (3 \cos^2 \theta - 2) - 3 \frac{c+1}{4} \Phi^2(\pi). \end{aligned}$$

The equality case of the inequality holds at  $p \in M$  if and only if there exists an orthonormal basis  $\{e_1, \dots, e_n\}$  of  $T_p M$  and an orthonormal basis  $\{e_{n+1}, \dots, e_{2m+1}\}$  of  $T_p^\perp M$  such that  $e_n = \xi$ ,  $\pi$  is spanned by  $e_1, e_2$  and the shape operators of  $M$  in  $\widetilde{M}(c)$  at  $p$  take the following forms:

$$A_{n+1} = \begin{pmatrix} a & 0 & 0 & \dots & 0 \\ 0 & b & 0 & \dots & 0 \\ 0 & 0 & \mu & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & \mu \end{pmatrix}, \quad a + b = \mu,$$

$$A_r = \begin{pmatrix} h_{11}^r & h_{12}^r & 0 & \dots & 0 \\ h_{12}^r & -h_{11}^r & 0 & \dots & 0 \\ 0 & 0 & 0 & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & 0 \end{pmatrix}, \quad r \in \{n+2, \dots, 2m+1\}.$$

From Theorem 2 we derive the following.

**Corollary 3.** Let  $\widetilde{M}(c)$  be a  $(2m + 1)$ -dimensional Kenmotsu space form and  $M$  an  $(n = 2k + 1)$ -dimensional invariant submanifold, tangent to  $\xi$ . Then, for any point  $p \in M$  and any plane section  $\pi \subset D_p$ , we have:

$$\tau - K(\pi) \leq \frac{(c-3)(n-2)(n+1)}{8} + \frac{c+1}{4} \left[ \frac{n-1}{2} - 3\Phi^2(\pi) \right].$$

**Theorem 4.** Let  $\widetilde{M}(c)$  be a  $(2m + 1)$ -dimensional Kenmotsu space form and  $M$  an  $(n = 2k + 1)$ -dimensional non anti-invariant  $\theta$ -slant submanifold, tangent to  $\xi$ . Then:

$$\delta'_M \leq \frac{n-2}{2} \left\{ \frac{n^2}{n-1} \|H\|^2 + \frac{(c-3)(n+1)}{4} \right\} + \frac{c+1}{8} [3(n-3) \cos^2 \theta - 2(n-1)].$$

The equality case of the inequality holds at  $p \in M$  if and only if there exists an orthonormal basis  $\{e_1, \dots, e_n\}$  of  $T_p M$  and an orthonormal basis  $\{e_{n+1}, \dots, e_{2m+1}\}$  of  $T_p^\perp M$  such that the shape operators of  $M$  in  $\widetilde{M}(c)$  at  $p$  have the following forms:

$$A_{n+1} = \begin{pmatrix} a & 0 & 0 & \dots & 0 \\ 0 & b & 0 & \dots & 0 \\ 0 & 0 & \mu & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & \mu \end{pmatrix}, \quad a + b = \mu,$$

$$A_r = \begin{pmatrix} h_{11}^r & h_{12}^r & 0 & \dots & 0 \\ h_{12}^r & -h_{11}^r & 0 & \dots & 0 \\ 0 & 0 & 0 & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & 0 \end{pmatrix}, \quad r \in \{n+2, \dots, 2m+1\}.$$

*Proof.* The proof of Theorem 4 is similar with the proof of Theorem 2 considering  $\pi = Sp\{e_1, e_2\}$ , with  $e_2 = \frac{1}{\cos \theta} P e_1$ , because  $\pi$  is invariant by  $P$  and so  $\Phi^2(\pi) = \cos^2 \theta$ .  $\square$

**Lemma 5.** Let  $M$  be an  $(n = 2k + 1)$ -dimensional submanifold, tangent to  $\xi$  of a  $(2m + 1)$ -dimensional Kenmotsu space form  $\widetilde{M}(c)$ . Let  $n_1, \dots, n_k$  be integers  $\geq 2$  satisfying  $n_1 < n, n_1 + \dots + n_k \leq n$ . For  $p \in M$ , let  $L_j \subset T_p M$  be subspaces of  $T_p M$ , orthogonal to  $\xi$  such that  $\dim L_j = n_j, \forall j \in \{1, \dots, k\}$ . Then, we have:

$$\tau(p) - \sum_{j=1}^k \tau(L_j) \leq d(n_1, \dots, n_k) \|H\|^2 + b(n_1, \dots, n_k) \frac{c-3}{4} + \frac{c+1}{8} \left[ 3\|P\|^2 - 2n + 2 - \sum_{j=1}^k 6\Psi(L_j) \right].$$

*Proof.* Let  $p \in M$  and  $\{e_1, \dots, e_n = \xi\}$  be an orthonormal basis of  $T_p M$ . From the Gauss equation we get

$$2\tau = n^2 \|H\|^2 - \|h\|^2 + \frac{c-3}{4}n(n-1) + \frac{c+1}{4} \left[ 3\|P\|^2 - 2(n-1) \right].$$

Denoting by

$$\eta = 2\tau - 2d(n_1, \dots, n_k) \|H\|^2 - \frac{c-3}{4}n(n-1) - \frac{c+1}{4} \left[ 3\|P\|^2 - 2(n-1) \right],$$

it follows that

$$n^2 \|H\|^2 = \left( \eta + \|h\|^2 \right) \gamma, \quad (1)$$

where  $\gamma = n + k - \sum_{j=1}^k n_j$ .

Let  $e_{n+1}$  be a unit normal vector at  $p$  parallel to  $H(p)$  and  $\{e_{n+1}, \dots, e_{2m+1}\}$  an orthonormal basis of  $T_p^\perp M$ .

We denote by  $a_i = h_{ii}^{n+1} = g(h(e_i, e_i), e_{n+1})$ .

The relation (1) becomes

$$\left( \sum_{i=1}^n a_i \right)^2 = \gamma \left[ \eta + \sum_{i \neq j} (h_{ij}^{n+1})^2 + \sum_{i=1}^n (h_{ii}^{n+1})^2 + \sum_{r=n+2}^{2m+1} \sum_{i,j=1}^n (h_{ij}^r)^2 \right]. \quad (2)$$

Let  $L_1, \dots, L_k$  be  $k$  mutually orthogonal subspaces of  $T_p M$ ,  $\dim L_j = n_j$ , defined by:

$$L_1 = Sp \{e_1, \dots, e_{n_1}\},$$

$$L_2 = Sp \{e_{n_1+1}, \dots, e_{n_1+n_2}\},$$

$\vdots$

$$L_k = Sp \{e_{n_1+\dots+n_{k-1}+1}, \dots, e_{n_1+\dots+n_k}\}.$$

We denote by  $D_j, j = 1, \dots, k$  the sets:

$$D_1 = \{1, \dots, n_1\},$$

$$D_2 = \{n_1 + 1, \dots, n_1 + n_2\},$$

$\vdots$

$$D_k = \{n_1 + \dots + n_{k-1} + 1, \dots, n_1 + \dots + n_k\}.$$

Also we put:

$$b_1 = a_1,$$

$$b_2 = a_2 + \dots + a_{n_1},$$

$$b_3 = a_{n_1+1} + \dots + a_{n_1+n_2},$$

$\vdots$

$$b_{k+1} = a_{n_1+\dots+n_{k-1}+1} + \dots + a_{n_1+\dots+n_k},$$

$$b_{k+2} = a_{n_1+\dots+n_k+1},$$

$\vdots$

$$b_{\gamma+1} = a_n.$$

Then the relation (2) is equivalent to

$$\begin{aligned} \left( \sum_{i=1}^{\gamma+1} b_i \right)^2 &= \gamma \left[ \eta + \sum_{i=1}^{\gamma+1} b_i^2 + \sum_{i \neq j} (h_{ij}^{n+1})^2 + \sum_{r=n+2}^{2m+1} \sum_{i,j=1}^n (h_{ij}^r)^2 \right. \\ &\quad \left. - 2 \sum_{2 \leq \alpha_1 < \beta_1 \leq n_1} a_{\alpha_1} a_{\beta_1} - 2 \sum_{\substack{\alpha_2 < \beta_2 \\ \alpha_2, \beta_2 \in D_2}} a_{\alpha_2} a_{\beta_2} - \cdots - 2 \sum_{\substack{\alpha_k < \beta_k \\ \alpha_k, \beta_k \in D_k}} a_{\alpha_k} a_{\beta_k} \right]. \end{aligned}$$

Applying the algebraic lemma we have:

$$\begin{aligned} 2b_1 b_2 &\geq \eta + \sum_{i \neq j} (h_{ij}^{n+1})^2 + \sum_{r=n+2}^{2m+1} \sum_{i,j=1}^n (h_{ij}^r)^2 \\ &\quad - 2 \left( \sum_{2 \leq \alpha_1 < \beta_1 \leq n_1} a_{\alpha_1} a_{\beta_1} + \sum_{\substack{\alpha_2 < \beta_2 \\ \alpha_2, \beta_2 \in D_2}} a_{\alpha_2} a_{\beta_2} + \cdots + \sum_{\substack{\alpha_k < \beta_k \\ \alpha_k, \beta_k \in D_k}} a_{\alpha_k} a_{\beta_k} \right), \end{aligned}$$

which is equivalent to:

$$\sum_{\alpha_1 < \beta_1} a_{\alpha_1} a_{\beta_1} + \cdots + \sum_{\alpha_k < \beta_k} a_{\alpha_k} a_{\beta_k} \geq \frac{1}{2} \left[ \eta + \sum_{i \neq j} (h_{ij}^{n+1})^2 + \sum_{r=n+2}^{2m+1} \sum_{i,j=1}^n (h_{ij}^r)^2 \right],$$

with  $\alpha_i, \beta_i \in D_i, \forall i = 1, \dots, k$ .

From the Gauss equation we obtain:

$$\begin{aligned} \tau(L_j) &= \frac{n_j(n_j - 1)(c - 3)}{8} + \frac{3(c + 1)}{4} \Psi(L_j) \\ &\quad + \sum_{r=n+1}^{2m+1} \sum_{\alpha_j < \beta_j} \left[ h_{\alpha_j \alpha_j}^r h_{\beta_j \beta_j}^r - (h_{\alpha_j \beta_j}^r)^2 \right]. \end{aligned}$$

It follows that

$$\begin{aligned} \sum_{j=1}^k \sum_{r=n+1}^{2m+1} \sum_{\alpha_j < \beta_j} \left[ h_{\alpha_j \alpha_j}^r h_{\beta_j \beta_j}^r - (h_{\alpha_j \beta_j}^r)^2 \right] &\geq \frac{\eta}{2} + \frac{1}{2} \sum_{r=n+1}^{2m+1} \sum_{(\alpha, \beta) \notin D^2} (h_{\alpha \beta}^r)^2 \\ &\quad + \frac{1}{2} \sum_{r=n+2}^{2m+1} \sum_{j=1}^k \left( \sum_{\alpha_j \in D_j} h_{\alpha_j \alpha_j}^r \right)^2 \geq \frac{\eta}{2}, \end{aligned}$$

where  $D^2 = (D_1 \times D_1) \cup \cdots \cup (D_k \times D_k)$ .

Thus

$$\begin{aligned} \sum_{j=1}^k \tau(L_j) &\geq \frac{\eta}{2} + \sum_{j=1}^k \left[ \frac{n_j(n_j-1)(c-3)}{8} + \frac{3(c+1)}{4} \Psi(L_j) \right] \\ &= \tau - d(n_1, \dots, n_k) \|H\|^2 - \frac{c-3}{8} n(n-1) - \frac{c+1}{8} \left[ 3\|P\|^2 - 2(n-1) \right] \\ &\quad + \sum_{j=1}^k \left[ \frac{n_j(n_j-1)(c-3)}{8} + \frac{3(c+1)}{4} \Psi(L_j) \right], \end{aligned}$$

which is equivalent with the relation that we want to prove.  $\square$

In particular, for slant submanifolds we derive:

**Theorem 6.** *Let  $M$  be an  $(n = 2k + 1)$ -dimensional non anti-invariant  $\theta$ -slant submanifold, tangent to  $\xi$  of a  $(2m + 1)$ -dimensional Kenmotsu space form  $\widetilde{M}(c)$ . Let  $n_1, \dots, n_k$  be integers  $\geq 2$  satisfying  $n_1 < n, n_1 + \dots + n_k \leq n$ . For  $p \in M$ , let  $L_j \subset T_p M$  be subspaces of  $T_p M$ , orthogonal to  $\xi$  such that  $\dim L_j = n_j, \forall j \in \{1, \dots, k\}$ . Then, we have:*

$$\begin{aligned} \tau(p) - \sum_{j=1}^k \tau(L_j) &\leq d(n_1, \dots, n_k) \|H\|^2 + b(n_1, \dots, n_k) \frac{c-3}{4} \\ &\quad + \frac{c+1}{8} \left[ (n-1)(3\cos^2\theta - 2) - \sum_{j=1}^k 6\Psi(L_j) \right]. \end{aligned}$$

The equality case of the inequality holds at  $p \in M$  if and only if there exists an orthonormal basis  $\{e_1, \dots, e_n\}$  of  $T_p M$  and an orthonormal basis  $\{e_{n+1}, \dots, e_{2m+1}\}$  of  $T_p^\perp M$  such that the shape operators of  $M$  in  $\widetilde{M}(c)$  at  $p$  have the following forms:

$$\begin{aligned} A_{n+1} &= \begin{pmatrix} a_1 & 0 & \dots & 0 \\ 0 & a_2 & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & \dots & a_n \end{pmatrix}, \quad a_1 + \dots + a_{n_1} = a_{n_1+1} + \dots + a_{n_1+n_2} = \dots \\ &= a_{n_1+\dots+n_{k-1}+1} + \dots + a_{n_1+\dots+n_k} = a_{n_1+\dots+n_k+1} = \dots = a_n, \end{aligned}$$



$$A_r = \begin{pmatrix} A_1^r & 0 & 0 & 0 & \dots & 0 \\ 0 & \ddots & 0 & 0 & \dots & 0 \\ 0 & 0 & A_k^r & 0 & \dots & 0 \\ 0 & 0 & 0 & 0 & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & 0 & \dots & 0 \end{pmatrix}, A_j^r \in M_{n_j}(\mathbb{R}), {}^t A_j^r = A_j^r, \text{Tr} A_j^r = 0,$$

$$\forall j = \overline{1, k}, \forall r \in \{n+2, \dots, 2m+1\}.$$

*Proof.* For a  $\theta$ -slant submanifold of a Kenmotsu space form we have  $\|P\|^2 = (n-1)\cos^2\theta$ .

Equality at a point  $p \in M$  holds if and only if the equality holds in all the previous inequalities and we have the equality in the algebraic lemma:

$$h_{\alpha\beta}^r = 0, \forall r = \overline{n+1, 2m+1}, \forall (\alpha, \beta) \notin D^2,$$

$$\sum_{\alpha_j \in D_j} h_{\alpha_j\alpha_j}^r = 0, \forall r = \overline{n+2, 2m+1}, \forall j = \overline{1, k},$$

$$b_1 + b_2 = b_3 = \dots = b_{\gamma+1}. \quad \square$$

For invariant submanifolds we have the following.

**Corollary 7.** *Let  $M$  be an  $(n = 2k + 1)$ -dimensional invariant submanifold, tangent to  $\xi$  of a  $(2m + 1)$ -dimensional Kenmotsu space form  $\widetilde{M}(c)$ . Let  $n_1, \dots, n_k$  be integers  $\geq 2$  satisfying  $n_1 < n, n_1 + \dots + n_k \leq n$ . For  $p \in M$ , let  $L_j \subset T_p M$  be subspaces of  $T_p M$ , orthogonal to  $\xi$  such that  $\dim L_j = n_j, \forall j \in \{1, \dots, k\}$ . Then, we have:*

$$\tau(p) - \sum_{j=1}^k \tau(L_j) \leq b(n_1, \dots, n_k) \frac{c-3}{4} + \frac{c+1}{8} \left[ (n-1) - \sum_{j=1}^k 6\Psi(L_j) \right].$$

*Proof.* It is known that every invariant submanifold of a Kenmotsu space form is minimal. □

We obtain the following Chen inequality.

**Theorem 8.** *Let  $M$  be an  $(n = 2k + 1)$ -dimensional non anti-invariant  $\theta$ -slant submanifold, tangent to  $\xi$  of a  $(2m + 1)$ -dimensional Kenmotsu space form  $\widetilde{M}(c)$ . Let  $n_1, \dots, n_k$  be integers  $\geq 2$  satisfying  $n_1 < n, n_1 + \dots + n_k \leq n$ . Then, we have:*

$$\delta'(n_1, \dots, n_k) \leq d(n_1, \dots, n_k) \|H\|^2 + b(n_1, \dots, n_k) \frac{c-3}{4}$$

$$+ \frac{c+1}{8} \left[ 3(n-1) - \sum_{j=1}^k n_j \cos^2\theta - 2(n-1) \right].$$

The equality case of the inequality holds at  $p \in M$  if and only if there exists an orthonormal basis  $\{e_1, \dots, e_n\}$  of  $T_pM$  and an orthonormal basis  $\{e_{n+1}, \dots, e_{2m+1}\}$  of  $T_p^\perp M$  such that the shape operators of  $M$  in  $\widetilde{M}(c)$  at  $p$  have the following forms:

$$A_{n+1} = \begin{pmatrix} a_1 & 0 & \dots & 0 \\ 0 & a_2 & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & \dots & a_n \end{pmatrix}, a_1 + \dots + a_{n_1} = a_{n_1+1} + \dots + a_{n_1+n_2} = \dots$$

$$= a_{n_1+\dots+n_{k-1}+1} + \dots + a_{n_1+\dots+n_k} = a_{n_1+\dots+n_{k+1}} = \dots = a_n,$$

$$A_r = \begin{pmatrix} A_1^r & 0 & 0 & 0 & \dots & 0 \\ 0 & \ddots & 0 & 0 & \dots & 0 \\ 0 & 0 & A_k^r & 0 & \dots & 0 \\ 0 & 0 & 0 & 0 & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & 0 & \dots & 0 \end{pmatrix}, A_j^r \in M_{n_j}(\mathbb{R}), {}^t A_j^r = A_j^r, \text{Tr} A_j^r = 0,$$

$$\forall j = \overline{1, k}, \forall r \in \{n+2, \dots, 2m+1\}.$$

*Proof.* Let  $p \in M$  and  $\{e_1, \dots, e_n = \xi\}$  be an orthonormal basis of  $T_pM$ . Since we use subspaces invariant by  $P$ , we may choose  $e_2 = \frac{1}{\cos\theta}Pe_1, \dots, e_{2k} = \frac{1}{\cos\theta}Pe_{2k-1}$ .

Let  $L_1, \dots, L_k$  be  $k$  mutually orthogonal subspaces of  $T_pM$ ,  $\dim L_j = n_j$ , defined by:

$$L_1 = Sp\{e_1, \dots, e_{n_1}\},$$

$$L_2 = Sp\{e_{n_1+1}, \dots, e_{n_1+n_2}\},$$

$$\vdots$$

$$L_k = Sp\{e_{n_1+\dots+n_{k-1}+1}, \dots, e_{n_1+\dots+n_k}\}.$$

Thus

$$\Psi(L_j) = \frac{n_j}{2} \cos^2 \theta, \forall j = 1, \dots, k.$$

□

REFERENCES

[1] K. Arslan, R. Ezentas, I. Mihai, C. Murathan and C. Ozgur, *Ricci curvature of submanifolds in Kenmotsu space forms*, IJMMS, 29 (2002), 719–726.  
 [2] D. E. Blair, *Contact manifolds in Riemannian geometry*, Lect. Notes Math., 509, Springer, 1976.  
 [3] A. Carriazo, *A contact version of B.-Y. Chen's inequality and its applications to slant immersions*, Kyungpook Math. J., 39 (1999), 465–476.  
 [4] B. Y. Chen, *Geometry of slant submanifolds*, Katholieke Universiteit Leuven, 1990.

- [5] B. Y. Chen, *Some pinching and classification theorems for minimal submanifolds*, Arch. Math., 60 (1993), 568-578.
- [6] B. Y. Chen, *Some new obstructions to minimal and Lagrangian isometric immersions*, Japan. J. Math., 26 (2000), 105-127.
- [7] S. Costache, *B.-Y. Chen inequalities for slant submanifolds in Kenmotsu space forms*, Bull. Transilv. Univ. Brasov, Series III, 1 (50) (2008), 87-92.
- [8] R. S. Gupta, I. Ahmad and S. M. Khursheed Haider, *B. Y. Chen's inequality and its application to slant immersions into Kenmostu manifolds*, Kyungpook Math. J., 44 (2004), 101-110.
- [9] K. Kenmotsu, *A class of almost contact Riemannian manifold*, Tohoku Math. J., 24 (1972), 93-103.
- [10] A. Lotta, *Slant submanifolds in contact geometry*, Bull. Math. Soc. Roum., 39 (1996), 183-198.

(Received: January 30, 2009)

(Revised: June 30, 2009)

Faculty of Mathematics

University of Bucharest

Academiei 14

010014 Bucharest

Romania

E-mail: simona\_costache2003@yahoo.com